

Kvazim. metoda  
Dk. řádu.

I + fce:  $g(x) = x + \frac{f^2(x)}{f(x)-f(x+f(x))}$

$\xi: f(\xi) = 0$

$\xi$  - pevný bod  $g$ :  $\lim_{x \rightarrow \xi} \frac{f(x)}{f(x)-f(x+f(x))} \stackrel{\text{L'Hosp. p.}}{=} \lim_{x \rightarrow \xi} \frac{f'(x)}{f'(x)-f'(x+f(x))(1+f'(x))}$

$= \lim_{x \rightarrow \xi} \frac{f'(x)}{f'(x)-f'(x)-f'(x)f'(x)} = \frac{f'(x)}{f'(x)-f'(x)-f'(x)^2}$

$= -\frac{1}{f'(x)}$

bře 15-9:59

$g(\xi) = \xi + \lim_{x \rightarrow \xi} \frac{f(x) \cdot \lim_{x \rightarrow \xi} \frac{f(x)}{f(x)-f(x+f(x))}}{x-\xi} = \xi + 0 \cdot \frac{1}{-f'(\xi)} = \xi$

$\xi$  - pevný bod  $g$

řad  $\geq 2 \Rightarrow g'(\xi) = 0$ :

$g'(\xi) = \lim_{x \rightarrow \xi} \frac{g(x)-g(\xi)}{x-\xi} = \lim_{x \rightarrow \xi} \frac{x + \frac{f^2(x)}{f(x)-f(x+f(x))} - \xi}{x-\xi} = 1 - 1 = 0$

$\lim_{x \rightarrow \xi} \frac{\frac{f^2(x)}{f(x)-f(x+f(x))}}{x-\xi} = \lim_{x \rightarrow \xi} \frac{f(x)-f(x)}{x-\xi} \cdot \lim_{x \rightarrow \xi} \frac{f(x)}{f(x)-f(x+f(x))} = f'(\xi) \cdot \left(\frac{1}{-f'(\xi)}\right) = -1$

bře 15-10:28

Př:

$f(x) = x^2 - 10$

$x_0 = 3, f(x_0) = -1 \quad x_0 = 4, f(x_0) = 6$

$x_0 + f(x_0) = 3 - 1 = 2 \quad x_0 + f(x_0) = 10$

$x_0 - f(x_0) = 3 + 1 = 4 \quad x_0 - f(x_0) = -2$

bře 15-10:36

Řád modifikované N. metody:

$\lim_{x \rightarrow \xi} \frac{|x_{n+1} - \xi|}{|x_n - \xi|^2} = C < \infty: \quad x_{n+1} = x_n - M \frac{f(x_n)}{f'(x_n)}$

$x_{n+1} = \xi + x_n - \xi - M \frac{f(x_n)}{f'(x_n)}$

Tagl. rozvoj:

$f(x_n) = f(\xi) + f'(\xi)(x_n - \xi) + \frac{1}{2} f''(\xi)(x_n - \xi)^2 + \dots + \frac{f^{(m)}(\xi)}{m!} (x_n - \xi)^m + \frac{f^{(m+1)}(\xi)}{(m+1)!} (x_n - \xi)^{m+1}$

$= \frac{f^{(m)}(\xi)}{m!} (x_n - \xi)^m + \frac{f^{(m+1)}(\xi)}{(m+1)!} (x_n - \xi)^{m+1} = \frac{(x_n - \xi)^m}{m!} \left[ f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m+1} (x_n - \xi) \right]$

$f'(x_n) = f'(\xi) + f''(\xi)(x_n - \xi) + \frac{1}{2} f'''(\xi)(x_n - \xi)^2 + \dots + \frac{f^{(m)}(\xi)}{(m-1)!} (x_n - \xi)^{m-1} + \frac{f^{(m+1)}(\xi)}{m!} (x_n - \xi)^m$

$= \frac{(x_n - \xi)^{m-1}}{(m-1)!} \left[ f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m} (x_n - \xi) \right]$

bře 15-10:45

$x_{n+1} - \xi = x_n - \xi - M \frac{\frac{(x_n - \xi)^m}{m!} \left[ f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m+1} (x_n - \xi) \right]}{\frac{(x_n - \xi)^{m-1}}{(m-1)!} \left[ f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m} (x_n - \xi) \right]} =$

$= (x_n - \xi) \left[ 1 - \frac{f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m+1} (x_n - \xi)}{f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m} (x_n - \xi)} \right] =$

$= (x_n - \xi) \frac{\frac{f^{(m+1)}(\xi)}{m+1} (x_n - \xi) - \frac{f^{(m+1)}(\xi)}{m} (x_n - \xi)}{f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m} (x_n - \xi)} = (x_n - \xi)^2 \frac{\frac{f^{(m+1)}(\xi)}{m+1} - \frac{f^{(m+1)}(\xi)}{m}}{f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m} (x_n - \xi)}$

$\lim_{x \rightarrow \xi} \frac{x_{n+1} - \xi}{(x_n - \xi)^2} = \lim_{x \rightarrow \xi} \frac{\frac{f^{(m+1)}(\xi)}{m+1} - \frac{f^{(m+1)}(\xi)}{m}}{f^{(m)}(\xi) + \frac{f^{(m+1)}(\xi)}{m} (x_n - \xi)} = \frac{\frac{f^{(m+1)}(\xi)}{m+1} - \frac{f^{(m+1)}(\xi)}{m}}{f^{(m)}(\xi)} < \infty$

bře 15-10:53

Aitkenova metoda

$x_{n+1} = (c+0/n)(x_n - \xi) \quad 0 < |c| < 1$

$\frac{x_{n+1} - \xi}{x_n - \xi} = c + 0/n \Rightarrow \lim_{n \rightarrow \infty} \frac{|x_{n+1} - \xi|}{|x_n - \xi|} = |c| \Rightarrow$  řád konv. posl. je 1

Dk věty: jmenovatel  $\neq 0$

$x_{n+1} - x_n = (x_{n+1} - \xi) - (x_n - \xi) = (c+0/n)(x_n - \xi) - (x_n - \xi) = (c-1+0/n)(x_n - \xi)$

$x_{n+2} - x_{n+1} = (c+0/(n+1))(x_{n+1} - \xi) - (x_{n+1} - \xi) = (c-1+0/(n+1))(x_{n+1} - \xi)$

$x_{n+2} - 2x_{n+1} + x_n = (x_{n+2} - x_{n+1}) - (x_{n+1} - x_n) = (c-1+0/(n+1))(x_{n+1} - \xi) - (c-1+0/n)(x_n - \xi)$

$= (x_n - \xi) \left[ (c^2 - c + 0/n) - (c-1+0/n) \right] = (x_n - \xi) \left[ (c-1) + 0/n \right] \neq 0$

bře 15-11:13

$$\begin{aligned}
 \lim_{x \rightarrow \infty} \frac{\hat{x}_n - \xi}{x_n - \xi} &= \lim_{x \rightarrow \infty} \frac{x_n - \xi - \frac{(x_n - x_{n-1})^2}{x_{n-1} + 2x_n + x_{n-1}}}{x_n - \xi} = \\
 &= \lim_{x \rightarrow \infty} \frac{x_n - \xi - \frac{(c-1+o(1))^2 (x_n - \xi)^2}{(c-1)^2 + o(1)} / (x_n - \xi)}{x_n - \xi} = \lim_{x \rightarrow \infty} \frac{x_n - \xi - \frac{(c-1)^2 + o(1)}{(c-1)^2 + o(1)} \cdot (x_n - \xi)}{x_n - \xi} = \\
 &= \lim_{x \rightarrow \infty} \left( 1 - \frac{(c-1)^2 + o(1)}{(c-1)^2 + o(1)} \right) = 1 - 1 = 0
 \end{aligned}$$

bře 15-11:26